FIT

@ 7l M LA

=T =

"baﬁiﬁ%)if'”'

e
53
) [
-, &
>
5|
3
5_9*,1
oy
<
A
[

O vass T\

&\
R

%
W 7
N I | ERHES B
% @ S
' EELlE ExEL 50 °
%\ i @
HOFREEHABERSHRATHE
S 2%E2R298
BIEER--RELY50cmZEETE
k| fk R . 1 e a5
XAIER2A28H BARE 4 Sv/h sgﬁﬂ[‘*i"ﬂi o A—ARyk 50 0.05 16| E7Bki5 ANET —hRTE 50 0.04 NN %ﬁf‘gw%m* 50 0.07
No| 1% BT |meEen| THIE Py - — =
. oRELaatln P REE) 50 004 17|F=23—F j’;,‘f MOFIRE el 040 slkynpn |14 FURIIA 50| 007
1|zK—y 1 b5 | T — JLRZ R 50 005 ob IN|
% b B b b _ slgEmEE (TSR 50/ 006 R T 006
2|t -HOLE O F 50, 0.6 0BLERS  |42-ARRE 50 002 ZENLSE  |pgr 26| ERLE DT SF R 50
s F-ey =] -F_EXLEE%@“ =] Fqﬁgxi'_:/\-ﬁhﬁ% o w48 ﬁﬁ*%%ﬂ{_)bﬁﬁ
% s
sz 2 BrmE k‘gg%mﬁaw ol 006 MELHERS |4 g 50[ 005 9PRES  |anF 50[  0.10 21|y 1onak—v| PO 50[  0.09
cmmieig |NYIRINBTOE-L |ELREE |EAETOZ 50/ 0.06 20|/ABEE 1Feh QL Ef 500 003
HERRFRE (ks ® 50| 0.05 = n
PN ER i RE s sol 007 13|F73k15 ;E{é\ RAAZAS 50, 003 21|7—)L FETEhzOET AL
21+ 48 \ 3 3 = ‘E t§ il E
6|552% B MGG |6 FAMUAET 500 004 14| BP B35 U4 50 0.03 2|(ABEEELE IS ﬁggﬁwﬁ"@'% 50 0.06
— hvd *y
e rs ‘E_XM_“ 50l 004 15| B EkiS 2?%?]8”0)47‘ so| 003 | 2ler=vans fﬁ?”mm‘” 50 0.6

2020/2/29




